2. (A). (C) and (D) only
Fe1 (A). (C) =T (D)

[Option ID = 3618]
3. (A). (B) and (D) only

== (A), (B) 35 (D)

[Option ID = 3619]
4. (). (B)and (D) only

F94 (C). (B) 317 (D)

[Option ID = 3620]
Topic:- GP_22SEPT22_SH2_S1_PartA

1) The following table shows the details about the number of different categories of vehicles sald
(in thousands) in a ecity over the years 2017-2021. Based on the data in the table, answer the
questions 1-5:

Year-wise Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6580
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heavy Commercial Vehicle: LCV: Light Commercial Vehicle

e mEel § g 2017-2021 F w5 Se-er 40 % A F1 jakl (FEw §) @ e g o
ATFS W ST AR WA F | A 1-5 TeE o 39 A

9T AT I S (7AW A )

: Tre 1 A
BTH .
2017 52 128 464 | 306 GS0
2018 a0 120 484 | 344 672
2019 144 158 406 | 420 208
2020 162 186 560 | 482 322
2021 214 294 532 | 470 854

In which vear. the number of LCVs sald was approximately 25% of the number of
two-wheelers sold?

T = o, Ta fn w0 e A 1 e T o o gate ot i 5 = e 25% 67
[Question ID = 956][Question Description = 101_00_General_15_SEPT22_Q01]
- 2020

[Option ID = 3821]
2. 2018



[Option ID = 3822]

3. 9017
[Option ID = 3823]
4 20921

[Option ID = 3824]

2) The following tahle shows the details about the number of different categories of vehicles sold
(in thousands) in a city over the years 2017-2021. Based on the data in the table, answer the
questions 1-5:

Year-wise Sale of Vehicles (in thousands)

=" Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6580
2018 | @0 120 | 484 | 344 G672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heavy Commercial Vehicle: LCV: Light Commercial Vehicle

e Al § g 2017-2021 F w=FE Sem-S 40 A A (7AW F) w1 e o

A ATEA F R (7 H )

: ElGaiieate v
BTH .-
2017 53 128 464 | 306 G0
2018 a0 120 484 | 344 672
2019 144 158 406 | 420 =08
2020 162 186 560 | 482 322
2021 214 294 532 | 470 854

w H AT, ~ 9T AR a9, U H#L - weh itees an

If the percentage increase in the sale of HCOVs in 2022 over 2021 1= expected to be same as in
2021 over 2020, then approximately how many HOVs (in thousands) will be =sold 1n 20227

oz =4 2022 ° v=AL AL Fi ol 9 99 2021 F g9 # wiavE gig =9 2020 1 g § 99 2021 A
TATA TEA 1 TR R A AT 2022 B w0 e v AL (v w=n E) e am e

[Question ID = 957][Question Description = 102_00_General_15_SEPT22_Q02]

1. 278
[Option ID = 3825]

2. 282

[Option ID = 3826]
3. 288

[Option ID = 3827]
4. 266

[Option ID = 3828]



3) The following table shows the details about the number of different catesories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

questions 1-5:

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

e Al § =@ 2017-2021 % A AeT-3er A9 % Sl Rl ekl (FAW H) F EE el
APFS] W AT AW USEE # ) AW 1-5 WAl ok 39 S

F9-aW = A e (e )

: ElGaieale il
313’ e
TR A, | v | FwE | A | T 9
2017 53 128 464 | 306 G630
2018 ap 120 4584 | 344 672
2019 144 158 496 | 420 B0E
2020 162 186 a6l | 482 322
2021 214 294 532 | 470 834

The number of HCVs sold in 2020 was approximatelv what percent of the total number of
vehicles sold in 20197

79 2020 © Topa BT T TAELAL 39 2010 § B TR T FE AwAl F1 @ e e aaem
=

[Question ID = 958][Question Description = 103_00_General_15_SEPT22_Q03]

1. 8%

[Option ID = 3829]
2. 10%

10 e

[Option ID = 3830]

3. T%
Y
¢ ITATA
[Option ID = 3831]
4, g,

O TFeTE

[Option ID = 3832]



4) The following table shows the details about the number of different categories of vehicles sald
{in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

guestions 1-5:

Year-wise Sale of Vehicles (in thousands)

- Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 125 | 464 | 306 680
2018 | 90 120 | 484 | 544 672
2018 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

=T Tl § =3 2017-2021 F 3R fEI-33ET 490 %k ST Rl ek (FAW ) w1 TEEm e o
APFS] T AT ARl uglE # At 1-5 T o 3 i

T9—aw el F T (7R )

: il 1
a-rq =
v A | v A | W | Sy | Tgaiear aee
2017 22 128 464 | 306 Gs0
2018 a0 120 454 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 560 | 482 822
2021 214 224 632 | 470 2384

TR AT - 9T anisEE A, ve L - B S T

The =zale of two-wheelers as a percentage of the sale of total number of vehicles was highest in
the year

TR A W Tg—91ma1 ATeAT 21 (9] T ATeAl i ST T T o T 6 e o s 97
[Question ID = 959][Question Description = 104_00_General_15_SEPT22_Q04]
1. 2021

[Option ID = 3833]
2 2018

[Option ID = 3834]
3. 2017

[Option ID = 3835]
4. 2019

[Option ID = 3836]



5)

questions 1-5:

The following table shows the details about the number of different categories of vehicles sold
(in thousands) in a city over the vears 2017-2021. Based on the data in the table, answer the

Year-wize Sale of Vehicles (in thousands)

s Vechile Category

HCV | LCV | Car | Jeep | Two-Wheeler
2017 | B2 128 | 464 | 306 6380
2018 | 90 120 | 484 | 344 672
2019 | 144 | 158 | 496 | 420 808
2020 | 162 | 186 | 560 | 482 822
2021 | 214 | 224 | 532 | 470 884

HCV : Heayy Commercial Vehicle: LCV: Light Commercial Vehicle

= mmel 7 =39 2017-2021 F w=ma -3 490 F T A s (= 9) F Ee g o

SRS T AT AW W A ) 5l 1-5 Yo & I St

F9-aW = A e (e )

: ElGaieale il
313’ e
v AL | vE L | e | S | i ans

2017 b3 128 464 | 306 G20
2018 a0 120 484 | 344 672
2019 144 158 496 | 420 =08
2020 162 186 a6l | 482 822
2021 214 224 532 | 470 8R4

The percentage increase in the zales in the vear 2020 over the previcus vear was maximum

for which of the following categories of vehicles?

ATEA I HASNEA S0 5 H FREE TEd 99 2020 § e 99 w6 GGl T Tashl | e ’}I_L:; Al

97

[Question ID = 960][Question Description = 105_00_General_15_SEPT22_Q05]

1. Car
ELs

[Option ID = 3837]
2. HCV

= A=Al

[Option ID = 3838]
3. Jeep

r~

=L

[Option ID = 3839]
4. LCV

T H=T AL

[Option ID = 3840]



Topic:- GP_22SEPT22_SH2_S1_PartB

1) Which of the following tvpe of questions cannot sasily be autograded by LMS softwares?

T=TRa |5 | 6| TR % U9l F US TR T WAt G ST H 2SR R

[Question ID = 961][Question Description = 106_00_General_15_SEPT22_Q06]
1. Multiple Choice Question

[Option ID = 3841]
2. Tpue-False Question

HE - =3 WA

[Option ID = 3842]
3. Bubjective Question

[Option ID = 3843]
4. Matching Question

[Option ID = 3844]

2) Where do the important aspects of learning including analysis. application. ereativity and
evaluation take place as per the traditional model of elassroom teaching?

FHT A F WG WS F FEN G, ST, GEAEEal S qeadd #Ea aam & aeeagn
[Question ID = 962][Question Description = 107_00_General_15_SEPT22_Q07]
1. Qutside class
T4 | AT
[Option ID = 3845]
2. TInsideclass
Tl & Hiew

[Option ID = 3846]
3. During summative assessment

[Option ID = 3847]
4. Onrote learning

=7 FTH T AT SRR W

[Option ID = 3848]



Match List I wath Tast IT :

ListI List IT
(Methodology of Teaching) {Teachers support system)
(A) WVideo through LMS and face to face (I} Traditional
discussions
(B) TUse of Talk and Chalk and Shamng of (IIy Modern
notes
(C) Case-study discussions (IIT) ICT based
(D) Use of projector in class for delivering (IV) Hyhbrid or Blended
presentation

Choose the correct answer from the options given below !

H=hi-1 % |14 1 G-I 5o e ;

=1 T IT
(Toremr fame) Gt e e )
(A) US ©H UA % W H ANsE #E AEA- (I T
e EE
(B) =T R TE F T S TET w mE (I) A=
AT
(C) wav-weaae {aga (ITT) A =i & e
(D) wEgl % o % o WATE (WiHAe) w0 (IV) #iTe =n Tarsm
T

419 fou 70 faweal @ B 9F 39 #1999 i

[Question ID = 963][Question Description = 108_00_General_15_SEPT22_Q08]
T (A, (B)D). (C)-ID). (D)-(IV)

[Option ID = 3849]
2. (A)-(ID), (By-(I). (C)-(III), (Dy-(TV)

[Option ID = 3850]
3. (A)-D. (B)-(IV). (C)-(II), (D)-(IID)

[Option ID = 3851]
4. (ANIV). (B)-(D). (Cy-(II). (D)-(I1T)

[Option ID = 3852]

4) A teacher teaches in a scaled down situation of teaching. Which of the following terms can be

used for this type of teaching?

=% foerh w3 i Feiven aifeats @ wgm 21 39 TR % mam % o Fetea § 8§ 9 | 0 01
B HEA 27

[Question ID = 964][Question Description = 109_00_General_15_SEPT22_Q09]
1. Maero teaching

[Option ID = 3853]
2. Sampling teaching



-:Eiilr[-!l

[Option ID = 3854]

3. Cooperative teaching

HEEE] E

[Option ID = 3855]
4. Micro teaching

T T

[Option ID = 3856]

5) In which of the following teaching models. the learmer iz mostly self directed and iz
responsible for his or her own learning?

Feita T 1 = e aies 9 stomral Saee S-eEE 3 9 TE F AeTm F o e 5

X
=

[Question ID = 965][Question Description = 110_00_General_15_SEPT22_Q10]
1. Andragogical model

[Option ID = 3857]
2. Pedagozy model

[Option ID = 3858]
Flip-classroom model

et -TeTEEs Bise (FHa-3chd 5ise)

[Option ID = 3859]
4. Reflective teaching model

I'—‘Jq:.ﬁ 'FQ‘[?.-}TIT qiai:l

[Option ID = 3860]

6) Operational definitions have

[Question ID = 966][Question Description = 111_00_General_15_SEPT22_Q11]
1. Limited meaning

Hing =19 74 7

[Option ID = 3861]

2. Extensive meaning

i sl

[Option ID = 3862]
Sectoral meaning

[Option ID = 3863]

4. Universal meaning

3.



EEE w99 7 7

[Option ID = 3864]

7 A
) The ratio level of measurement has

T T S =R
[Question ID = 967][Question Description = 112_00_General_15_SEPT22_Q12]
1. A constant odd number
[Option ID = 3865]
2. A true zero point
[Option ID = 3866]
3. Unique applications
- ﬁ’ H . -l

[Option ID = 3867]
4 Limited use in Physical Sciences

e 99 § =iga =@

[Option ID = 3868]

8) The major advantages of an online Survey are:

(A) It provides strong control over data gathering process.
(B The identified respendent always fills the questionnaire.
() It 12 normally inexpensive.

(D) It facihtates the speedy collection of data

(E) It can be conducted from the researcher’s location.

Choose the correct answer from the options given helow |

AR FAGT F TS A A 7

(A)  =F IS AEEY AT W OAHsH T U5 HA 2
(B) Talea ulaam =9 9oTas & 95 A

(C) == \REE S 7 A

(D) == STFE1 F A AR F ETS A 2

(E) == 9geal =1 e J T=we B A 999 2

oo o fame § B mF T W =EE

[Question ID = 968][Question Description = 113_00_General_15_SEPT22_Q13]
1. A B.COnly
Fa7 A. B, C

[Option ID = 3869]
2. B.C.DOnly



FAAB.C.D

[Option ID = 3870]
3. 0.D.EOnly

a7 C.D. E

[Option ID = 3871]
4 A B.EOnly

Fa7 A, B. E

[Option ID = 3872]

9 Given helow are two statements :
Statement I i Visual ethnnography as a recent branch of research is dependent upon
photo-elicitation to.a large extent.
Statement IT :  The visual research has not helped in empowering the marginalizsed
people.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I1 are false
(3) Statement I 1= true but Statement IT 1= false

(4) Statement I is falze but Statement I 1= true

A= T Fe rom E
FoA 1 wEEgd F 9 T A F UF W F E9 U 9 900G 9E 5 O TR - 9
e 21

Fed I1: 579 STHGH 79 F S0 R JOFF FH F WES TR T E

T FOH F AEE O, A e W e 8 O a5 O =9 R

[Question ID = 969][Question Description = 114_00_General_15_SEPT22_Q14]
1. Both Statement I and Statement Il are true
o I s e |50 7
[Option ID = 3873]
2. Both Statement I and Statement IT ave false
e [ 3 1 gH1 530 =

[Option ID = 3874]

3. Btatement I is true but Statement I 1= false
w0 1 a0a 7, =i 9 I 35 2
[Option ID = 3875]
4.

Statement I 1s false but Statement II 1s true

FoF 1 515/ 7, @A 394 [ 978 &

[Option ID = 3876]



10

) Match List I with Tast 1T :
List I
{Types of case)
(A) Critical case

(B} TUnique case

List IT
(Description)

iI) Provides an opportunity to analyse a
previously inaccessible phenomenon.

(IT) Based on a well-developed theory

(C) TRepresentative case (III) Normally selected for clinical studies.

(D) Revelatory case

(IV) Related to common place situation

Choose the correct answer from the options siven below :

FH1-17% =12 FT gAi-11 T HifA0

1
(T = W)
(A) THEEATEE T
(B) FUEA T
(C) Wil T
(D) TEEAEEA TE

T=-10
(=)
1) o s aferea & favem & s
TR A
(IT) Hi=hias Egee W S
(III) =A== Fae 55999 (o 599
(IV) == 227 fets = gafi

= fon o e § 7 WE T A == i

[Question ID = 970][Question Description = 115_00_General_15_SEPT22_Q15]
(AT, (B)-(IL). (C)~(III). (D-(IV)

1.

2.

3.

4.

[Option ID = 3877]

(A)-(IID). (BY)=(IV). (C)(I). (D)-(IT)

[Option ID = 3878]

(A)-(IV), (B)-(I), (Cy-(IT), (D)-(I1T}

[Option ID = 3879]

(A)-(IL), (B)-(II0). (©)-(IV). (D)-(Iy

[Option ID = 3880]

11)  For a student of communication reading includes the gkills of

o e F fardt F o were e F g Fer 20

[Question ID = 971][Question Description = 116_00_General_15_SEPT22_Q16]

1.

2.

3.

Observation and analysis

TAATA TH Hre

[Option ID = 3881]
De-contextualisation

[Option ID = 3882]
Understanding for others

[Option ID = 3883]



4. Passive viewing of vizual media
ig—qm-?qjlwr'J_ qma.-—r
[Option ID = 3884]

12) Normally mass media operate 1n

Tl 9 HEE A g B a

[Question ID = 972][Question Description = 117_00_General_15_SEPT22_Q17]

- Personal Sphere

=i & H
[Option ID = 3885]
2. Political Sphere

L i e e
[Option ID = 3886]

3. Economic Sphere
[Option ID = 3887]

4. Public Sphers
Gl ER:

[Option ID = 3888]

13) In mass communication. the audiences are :

(A)  Well-defined
B) Anonymous
(C) Homogeneous
(D) Heterogeneous

{E) Scattered
Choose the correct answer from the options given below :

(A mEErEa

By =AW

(C) H=mmE

(D) TawEE

(E)

fom T faFeT © 0 TR S W =9 A

[Question ID = 973][Question Description = 118_00_General_15_SEPT22_Q18]
1. A B.COnly
Fae A, B. C

[Option ID = 3889]
2. B, C, D Only



FaAB. C. D

[Option ID = 3890]
3. B,D.E Only

Fa9B.D. E

[Option ID = 3891]
4 C.D.E Only

Fa7 C,D. E

[Option ID = 3892]

14 . . - . . o

) Which of the following can be used to overcome commumnication barriers in an organization?
(A) Unhmited use of grapevine.
(B) Sectionalized and preferred feedback
(C) Action-oriented communication
(D) Proper use of language
(E) Inter-personal relations
Choose the eorrect answer from the options given below :

e § ° e v AeaE d mnm sEe) w U A F R T e A A A

(A} TF TER w1 SEEa =
(By Tawrsm v sifam wioate
(C) = wrarE e

(D) T EEHEE T

(E) 3= T30 F T

Tam T fawel © © @E 3 F =99 A

[Question ID = 974][Question Description = 119_00_General_15_SEPT22_Q19]
. A B.COnly

Fa9 A, B. C
[Option ID = 3893]

2. B.C.D Only

F4= B, C. D

[Option ID = 3894]
3. (.D.E Only

F==C.D. E

[Option ID = 3895]
4. A D.EOnly

Fa[ A. D.E

[Option ID = 3896]



15)

Given below are two statements :
Statement T : The conventional electromic medium of television suffers from the
‘master-slave’ architecture.

Statement 11 : The Computer-based communication technologies promote
individuahi=m and creativity,

In the light of the above statements. choose the correct answer from the options given below :

B A B s i e L

F99 11 ZieIEeA 1 TSR SRl H1eTs =i e | 9 R
FoA I TV SV O A ST S Gl e Fel 2

TRl TE B e o e M 1B T L o et e = o o e L R e [ L

[Question ID = 975][Question Description = 120_00_General_15_SEPT22_Q20]

1.

PBoth Statement I and Statement I1 are true

[Option ID = 3897]
2. Both Statement I and Statement II are falze

[Option ID = 3898]
3. Statement I 1= true but Statement IT 1= false

o [ 50 2, S 9 11 #6907

[Option ID = 3899]

Statement I 1s false but Statement II is true

o[ [ woed 2, A FuE 1L e 7

[Option ID = 3900]

16) tha coding scheme the word 'STATEMENT is written as 'TNEMETATS'. In the same coding

gcheme, how the word POLITICAL zhall be coded?

U 2 B (F=T) Tgid 8 7er ‘STATEMENT %1 TNEMETATS' formar = 21 381 2 S agid
® v POLITICAL %1 0 15 71 ¢

[Question ID = 976][Question Description = 121_00_General_15_SEPT22_Q21]

1.

LATCTIOLP

[Option ID = 3901]

2.

LACITILOP

[Option ID = 3902]

3.

LACTILOP

[Option ID = 3903]
4. LACTILIOP
[Option ID = 3904]



17) In the number 455 1s divided in the ratioc of 4:3. then the two parts of 455 shall be
respectively?

Alg HEAT 455 W 4:3 F FAIA H FAINAT A1 A, A 455 F 5 G0 FET 70
[Question ID = 977][Question Description = 122_00_General_15_SEPT22_Q22]
1. 260, 195

[Option ID = 3905]
2. 250, 205

[Option ID = 3906]
3. 265,190

[Option ID = 3907]
4. 255,200

[Option ID = 3908]

18) Two students A and B are ranked 9% and 13% respectively from the top in a class of
37 students, What will be their ranks (A & B respectively) from bottom in the class?

37 TET F1 OF F41 9 @ 91 A 3T B W 5 T T #0091 66 1397 7| FE § A= T = (FE A
A1 B) T 31 70W 7

[Question ID = 978][Question Description = 123_00_General_15_SEPT22_Q23]

- 25 29
[Option ID = 3909]

2. 24, 28

[Option ID = 3910]
3. 29,25

[Option ID = 3911]
4. 28, 24

[Option ID = 3912]

19) A hov goes 10 km in the north direction from his school. From there he turns left and goes
15 km. and again turns left and zoes 10 km. How far is the boy from his school and in which

direction from schoal?

TF S H S H I g H 10 PR ST 21 99 | 9E WS SF gsAl ¢ AW 1S FREL e 2 oA
TH = =1 9% 43 9 9% 10 . I 7| 9 e O TueE § e g i FmeE g e e e

Bl

[Question ID = 979][Question Description = 124_00_General_15_SEPT22_Q24]
. 10 km and in North Divection
10 Tt 57 s e §

[Option ID = 3913]
2. 15 km and in South Divection

15 TH1 3w wiem f5en |

[Option ID = 3914]
3. 10 km and in West Direction

L0 TFH1 ¥ 9fv=s T |

[Option ID = 3915]
4. 15 km and in West Direction



15 TeT o7 afvam e |
[Option ID = 3916]

20) After getting two successive discounts. a shirt with a list price of Ra. 150 1= available at
R=.105. If the second dizcount is 12.5%. find the first dizcount?

TF FHE T g o9 % 150 B, W IR 9E (F2) F Oum 5.105 W 9o 2| A TE wm
12.5% 2, &1 951 =g 7 Firee)

[Question ID = 980][Question Description = 125_00_General_15_SEPT22_Q25]
1. 15%

[Option ID = 3917]
2. 20%

[Option ID = 3918]

3. 25%
[Option ID = 3919]
4. 1'}"1@.

[Option ID = 3920]

21)  If'same men are violent' is given as false which of the following could be immediately inferred
frrom 1t7
(A ‘No men are viclent is undetermined
(B) ‘Some men are not violent' is true
() "No nien are violent is true

(D) ‘All men are violent 1s false

Choose the correect answer from the options given below :

I A FE o EEE 2, F A S T 2, A1 55, eEd § H 0 aewie SEnTEd e o
TEAT A7

(A) = o =R e R e, At 2
B ‘TR @

(C) ‘=i i =t Fm o A

D) ‘= =mhE w2 e

{70 U famea °§ | TR I =99 R

[Question ID = 981][Question Description = 126_00_General_15_SEPT22_Q26]
1. B.C.DOnly

Fa9 B.C.D
[Option ID = 3921]
2. A B.DOnly

FaF A B.D

[Option ID = 3922]
3. Aand D Only



FaA AT D

[Option ID = 3923]
4 Aand C Only

FaE A S C

[Option ID = 3924]

22) “The universe must be spherical in form sinee all the constituent parts of the universe. stars
and planets etc. are spherical in form.” Which fallacy 1s committed in the above argument?

“HES F1 =Y § MR 291 9150 F6E Sas F A @ueAenE 97, 96 a8 960 08 @i merEn 7
I T H FA W aE o e 2
[Question ID = 982][Question Description = 127_00_General_15_SEPT22_Q27]
1. Begging the Question
T T S

[Option ID = 3925]
2. Fallacy of Composition

[Option ID = 3926]
3. Fallacy of Accident

[Option ID = 3927]
4 Hasty Generalisation

[Option ID = 3928]

23) (Given below are two statements :

Statement T : In classical logie, the umversal proposition implies the truth of its
corresponding particular proposition.

Statement 1T :  Two propositions that cannot both be true and cannot both be false are
called contraries.

In the light of the above statements. choose the correct answer from the options given helow :

fAT e

FH 1 OHE T AR, AEEE ah-aeE 5 9 559 [ qh A A S w

=
I

i) ) -, I [ o i . i, g .
T FYA R AR H, A9 150 T TSR 0 H HEE ST 3 R 99 S

[Question ID = 983][Question Description = 128_00_General_15_SEPT22_Q28]
1. Both Statement I and Statement II are true

Fom [ 3w 1L 5 o0 &

[Option ID = 3929]



2. Both Statement I and Statement IT
Fam 1 310 [ 5F 990 2

[Option ID = 3930]

are false

3. Statement I1s true but Statement II 1= false

Fo 1599 2, =it 52 11 =5

[Option ID = 3931]

4. Btatement I 1= false but Statement IT 1s true

Fo | 797 7, A0 FoA L7 7
[Option ID = 3932]

24) Match List I with List I1 :

Tast I
{Type of Inference)

{A)  Sartha anumana
(B} Pararth anumana
(C)  Eevalanvayl anumana

(D) Kevalavyvatireki anumana

Li=t IT
{Description)

(I Nddle term 1s alwavs and onlv negatively

related to the Major term.

(II) The terms agree only 1n presence. there being no

instance of their agreement in ahsence

(I} No formal statement of the different membera of

inference

(IV) Presented in language and has to be done only to

convince others

Choose the correct answer from the options given below :

T~ 1% =19 = g 1L foem fifam
o

(3TIHF 1 AFR)
(A) =n4E 3EE

(B) T FaET

(C) FacT{a: FHAH

(D) FaerAiaE ATAE

HI-1T
(Ta=mom)
(I) &% 93, W@ 9% | T5g 390 Fael SHEEE B9 H
HETEA 2
(II) 9% Fae S9EAE § 957 79 7, uH] %5 290 72
2 W 9 AR § weE |
(IIT) =F"F 5 199 AoE] 1 H1E S =E1s faavm 564
(IV) 9T § Wega =61 & #i Fae 991 % B4 & o,

o )

9 oo o e B T T = S A

[Question ID = 984][Question Description = 129_00_General_15_SEPT22_Q29]

T (AT, (Bi~D), (C)-(IIL). (D)-(IV)

[Option ID = 3933]
2. (A)ITD). (B)-(IV), (C)-(T). (D)-(IT)

[Option ID = 3934]

3. (AT, (B)-(IN). (C)(II). (Dy-(T)
[Option ID = 3935]

4 (A)IV). (B)-(IID), (C)-(ID. (D))

[Option ID = 3936]



25) Whach of the following are essential characteristics of the middle term according to classical
Indian Logicians:

(A) It must be present in minor term

B It must be present in all positive instances in which the major term is present.
(Ch It must be absent in all nezative instances In which the major term 1s absent.
(D) It must be in compatiable with the minor term.

Choose the correet answer from the options given below :
T WA TN F FFE 6 U% F FeieiEd A [ear - 2
(A) %% wY 9E A e A
(B) %% =9 WYl GohWirHS FAAA] ¥ SURAT 36vd 7 THAE g s S A
(©) ===t TEmeE et 8 e aa o s v v s

(D) =7 7 9% F T s S A

Tau T fapeTl 9§ 9F 390 F 99 RiAv

[Question ID = 985][Question Description = 130_00_General_15_SEPT22_Q30]
. A BOnly
Fa5 A, B
[Option ID = 3937]
2. B, COnly
Fa9 B, C

[Option ID = 3938]
3. A B.C Only

FaAA.B. C

[Option ID = 3939]
4. A B.C.D Only

ABCD

[Option ID = 3940]

26)  Which of the following best describes a computer worm?

Tt 3 o St Fo T Foger 2 T A & =0 e 27
[Question ID = 986][Question Description = 131_00_General_15_SEPT22_Q31]
1. Malware that does not replicate 1tgelf but spreads through social engineering.

[Option ID = 3941]
2. Malware that replicates by attaching itself to a word processing document,

T, A T A4S WEHE ToE 69 A O F A 49T F 2|

[Option ID = 3942]



3. Malware that replicates by attaching itself to an executahle programme.

Tieaat, 1 T Saied G 0 ST SR S F AR o w2
[Option ID = 3943]

4. Malware that replicates itself as stand alone software.
T, H - A F E W S S T a9 e A

[Option ID = 3944]

27)  Which IT project in India is the main provider of ICT infrastructure for creating a knowledge

society with the aim to ushering in a knowledge revolution in the country?

TH=tleitEn B | FiAE 5.4 9igre 5u F 3 F009 F gE9E 6 3599 § TR 5 - S S99 F
& 10 A% 5.5, S g TEE
[Question ID = 987][Question Description = 132_00_General_15_SEPT22_Q32]
1. NEN
T L,
[Option ID = 3945]
2. UIDAI
7,318 S0 TS,
[Option ID = 3946]
3. National Informatics Network
-\.J.I:f"rr:’."'r

[Option ID = 3947]
4. Megh Raj (GI Cloud)

T (.. e

[Option ID = 3948]

28) Amar’s college uses a form to collect data from new students. The data 1s used to create
information that can be used by the college. Which of the following statements are true about

information?

(A) Information iz raw facts and figures that have not been given a meaning.
(B) Information can be produced by processing raw data.

() Information iz automatically encrypted when it 1s produced.

() Information is raw facts and figures that have been given a context.

Choose the correct answer from the options ziven below



T ] TR AT A 221 T T 0 U 0 R S FA 2| G A F e s
ol

AR AT ST 2, THEET R 39EF W GEAT 7| FEeiEs § 8 i w0 gEa & 96§
i

(&) T A Ao A S A w E, T e a9g o
(B)  FUNeFRa 321 % THEE % GR1 g A1 W Al 2

(C) = FoAT 7S Sl 7 Al 97 99 I e 7 e 2

(D) e st Al s S A A 2, e v aed fomn v 2

fon T fFFeal 5 8 H9E 3 W =99 i

[Question ID = 988][Question Description = 133_00_General_15_SEPT22_Q33]
1. Agnd C Only

Fae A #HE C
[Option ID = 3949]

2. A and B Only
FaA A G7 B

[Option ID = 3950]
3 BandD Only

a9 B #0 D

[Option ID = 3951]
4. Cand D Only

a5 C 77 D

[Option ID = 3952]

29) Identify the correct ascending order of the following numbers under A.D represented in

different bazes:

{A) (11101011)2 (Base — 2 binary number)
(B) {564z (Base — 8 Octal number)

(0 {614)10 (Baze — 10 decimal number)

(D) (489)15 (Base — 16 hexadecimal number)

Chaese the eorrect answer from the options given below :

Tata= s § A-D F 3 JaHe 50 FeteiEs T F Ge anE 5 5 9eae i
(&) (11101011)> [smem-2 Tgemyr e

(B)  (584)s [snav-§ oae] @]

(€) (614 [39F- 10 Toea T

(D) (4809)16 [#T97 - 16 TZAEHAa T

U U ke B H HEl 3 B =EE i

[Question ID = 989][Question Description = 134_00_General_15_SEPT22_Q34]
. ACDB

[Option ID = 3953]
2 D.C.B.A



[Option ID = 3954]
3. B.C.AD

[Option ID = 3955]
4 ABCD

[Option ID = 3956]

30) Consider the following spreadsheet:

A|lB | C
1| 4 3
2168 | 2
3| 7
4 | 8 9
5| 9
6

If the formula = 3A3 + B2 in cell (4 1= copied to cell C5, then what is the value in ¢ell C37

AR FIEeE W EET i

C

b | oo |

0 | G0 | = @ e |

L ) R Y S Tl S

aiT Fe (Fiaw) B4 8 g7 = 3A3 + B2 1 e His # wfartq B 9 2 9 @ Hi5 F 99 (35g) F=
=Y

[Question ID = 990][Question Description = 135_00_General_15_SEPT22_Q35]
1. o]

[Option ID = 3957]
2. 8

[Option ID = 3958]
3. 17

[Option ID = 3959]
4. 16

[Option ID = 3960]
31)

Which of the following pesticides iz expected to persist in the environment for longer perlod as
compared to others?

= AT e f qee 8 et A G F S 8 sieE g6a  F 51 w5 6
HYTAT w2 7

[Question ID = 991][Question Description = 136_00_General_15_SEPT22_Q36]
1. Dieldiin

-
sizlleg

[Option ID = 3961]
2. Parathion



[Option ID = 3962]
3. Malathion

:= I .'ﬂ'l_'T{

[Option ID = 3963]
4. Carbarvl

fr

E L L

[Option ID = 3964]

32)  Arrange the following terms chronologically according to the time these were first introduced.

(A) Principle of common but differentiated responsibility.
(B) Sustainable Development
(C)  Nationally Determined Contributions

(D) Clean Development Mechanism

Choose the correet answer from the options given helow :

L e ot e T i e e el 2 e B e P 2 o e e o) o L e

(A) TEn Wy A9Ed TEe = EA
(By @ad =wm

(C) T8 AT W EETEE I

(D) == T wE-EE

fon T et § 0 TR I W =9 i

[Question ID = 992][Question Description = 137_00_General_15_SEPT22_Q37]
. ABCD

[Option ID = 3965]
2. B.ACD

[Option ID = 3966]
3. BADC

[Option ID = 3967]
4. A B D C

[Option ID = 3968]

33) Identify the nuclear disasters among the following:

(A) Love cannal
(B) Fukushima
(C)  Kyshtym
(D) Chernobyl

Choose the most appropriate answer from the options given below :



FretetEs © afaE s Fl 9m e 5

(A) = FEE
(B) I
(Cy  TiEm
(D)  =ATE

fzu o faehedi © B |A = = A

[Question ID = 993][Question Description = 138_00_General_15_SEPT22_Q38]
1. A Band C Only

A A BER C
[Option ID = 3969]

2. B.CandD Onl
Fa9 B, C #r D
[Option ID = 3970]

3 A BandD Only

FaFA A, B#E D
[Option ID = 3971]

4. D Only

#Fae D

[Option ID = 3972]

34)  Mlateh List T with List IT -

ListI Tist IT
(A) Pathogens (I+  Thorium
(B) Inorgamie Chemicalz (II) Plasties
(C) Organic Chemicals (IIT} Bacteria
(D) Radicactive Meterial (IV) Heavv Metals

Choose the correct answer from the options given helow :

T~ 1% A1y =1 70— 11 foemm shifee

=1 =110
(A) = Iy =ifeEs

(B) st mEm (D) s
(C) FET T (IIL) =i
(D) ifEmfEm amdi (V) 9l gEe
Hi= fou v fawear @ 1 A 39 = =g Firav
[Question ID = 994][Question Description = 139_00_General_15_SEPT22_Q39]
1. (A)-(I). (B)-(ID), (C)-(III), (D1-(IV)

[Option ID = 3973]
2. (A)(II). (B)-(OV). (C)-(IID). (D)-(I)



[Option ID = 3974]
3 (AVAIID. (BRIV). (C)-(I), (D)-(IT)

[Option ID = 3975]
4. (A)-(IID. (By-(IV). (C)-(IL). (D)D)

[Option ID = 3976]

35) Given below are two statements : One is lahelled as Assertion A and the other is lahelled as

Heason R.

Assertion (A):  Energy of most cveclones dissipates fast after landfall.

Reazons (R) : Surface roughness of land areas i= higher than that of ceeans,
In the light of the above statements. choose the most appropriate answer from the options

given helow :

=t f F9A oo T ;v e (Assertion (A)) % =9 ° TEEA £ 91 5E0 796 FEW (Reasons (R))

FETH :

A (A) 2 e e e e 2 e e o e et e
FF (R) AT T HART WA WEET i SA9E SF A R

A FAA F A A, A9 0 T T A 8 OeE I 3 6 wE e

[Question ID = 995][Question Description = 140_00_General_15_SEPT22_Q40]
1. Both (A) and (R) are true and (R) 1= the correct explanation of (A)

(A) 37 (R) 5/1 =51 7 &1 (B). (A) =i 981 == 7

[Option ID = 3977]
2. Both (A)and (R) are true but (R) iz NOT the correct explanation of (4)

(A) #T (R) 51 503 = =103 (R). (A) 1 a1 =3msg1 747 =
[Option ID = 3978]

3. {A)is correct but (R) 1s not correct
(A) 72 2 @ (R) w8 99 2

[Option ID = 3979]
4. {A) 1z not correet but (R) is correct

(A) @8t 5 & =i (R) 571 2

[Option ID = 3980]



36) Given below are two statements :

Statement T : IKotham Commission recommended a natlonal system of educaction

hazed on structure of 10+2+3,

Statement II : National Enowledze Commission was constituted in June 2005 by the

eastwhile Prime Minister Dy, Manmochan Singh,

In the light of the above statements. choose the correct answer from the options given below :

= A e mEom R

i 1

T 11 :

FrET AEE T 10+2+3 F = W e e e T # m@emm A

S 2005 T SRR TGH T ST TN (5 A TEE T S 5 TS A g

SO YA F AEIE , A 150 0 ) § H T 3 9 =ET R

[Question ID = 996][Question Description = 141_00_General_15_SEPT22_Q41]
1. Both Statement I and Statement II are true

e [ # [l o =03 =

[Option ID = 3981]

Both Statement I and Statement II are false

T2 [ 3w =[] s 7

[Option ID = 3982]

Statement [ 1s true but Statement 11 is falzse

F— 5
o 1943 7, @A ®ae 11 590 7

[Option ID = 3983]

Statement I 1= false but Statement IT is true

[Option ID = 3984]

37) Who among the following were prominent women vedic scholors?

(A)
(B)
(C)
(I
(E)

MMaitrevi
Viswambhara
Apala

Gargi
Lopamudra

Choose the correct answer from the options given helow :



a3 9 BH F51 Fi1 T qiEe =g 4

(&)
(B)
(C)
(D)
(D)

2w U Taeeal O H HE 3T S =9 R

[Question ID = 997][Question Description = 142_00_General_15_SEPT22_Q42]

1. A D.E Only
Fa9 A D. E
[Option ID = 3985]

2. A C.D Only
Fa5 A C.D

[Option ID = 3986]
3. A C.D.EOnly

Fa9A C.D. E

[Option ID = 3987]
4 ABCDE

ABCDE
[Option ID = 3988]

38)

The cbjectives of All India Council of Technical Education (AICTE) arve:

(A)
(B
()
(D)
(E)

Promotion of gquality in technical education

Funding salary of teachers in engineering colleges.

Flanning and coordinating development of technical education system.
Promoting continuous and open learning in technical education

Regulation and mamtenance of norms and standards

Choose the correct answer from the options given helow :

HATG AAE AR e g (TR ) e Bt

(A)
{B)
()
(D
(E)

AT FEA] B AT aad w5 e

FEATR 5T § WA ST G ATSTE AT o

fou T T § O OF 39 W 99 A

[Question ID = 998][Question Description = 143_00_General_15_SEPT22_Q43]
" A D EOnly



#a4 A. D. E

[Option ID = 3989]

2 A B.EOnly
Fa9 A B.E
[Option ID = 3990]
3. A C.EOnly
Fa9A.C. E
[Option ID = 3991]
4. A C.DOnly
FaAAC.D
[Option ID = 3992]
39)
Given helow are two statements :
Statement [ :  National Education Policy 2020 recommends abolition of the system of
affiliation of eolleges 1n higher education system.
Statement IT ; National Education Policy 2020 recommends strengthening and
empowering the Central Advisory Board of Education (CABE),
In the light of the above statements. choose the correct answer from the options given below :
FoH [ T e A 2020, ° I 1900 UOE] 3 SEEETeE] S el Tl 5EE A a9
e IL: g o 5 2020 8 F=r e garsn a2 (H10EE) 6 596 6410 39F HEerE
1 s A

I YA F AETE °, T 50 T T 5 F e 3 1 999 i

[Question ID = 999][Question Description = 144_00_General_15_SEPT22_Q44]

1.

4.

Both Statement I and Statement I1 are true

Foq I em o9 3

[Option ID = 3993]
Both Statement I and Statement II are false

Fo9 1 31w Il 5[l 3959 7

[Option ID = 3994]

Statement [ 1s true but Statement II is false
Fo [ @eg 2, 9 F49 11 350 2

[Option ID = 3995]

Statement I is false but Statement 11 1s true



[Option ID = 3996]

40) Given helow are two statements

StatementI : Understanding the concept of sustainable development 1s the pre-requisite
for developing the values needed for it

Statement IT : Sustainable development iz defined as development that meets the needs of
the present generation withoui compromising the ahility of future
generations to meet their own need.

In the Licht of the above statements. choose the correet answer from the options given below :
EiE] ?:J EZL %ﬁ mE
FoF 1:  WAd FFE 9 92 T F BEE F 0 OEs T F SauannenE 5y =0 7

FoA 11 &Fa A 1 36 W % =0 H ST e 2, S 9 S s g
Torm h1 men @ maEiar o AT 3dEE SR # S g e 2

T FUT T SR 5, 369 50 T gweul § 5 WA 3 6 5 Fa

[Question ID = 1000][Question Description = 145_00_General_15_SEPT22_Q45]
1. Both Statement I and Statement II are true

[Option ID = 3997]
2.  Both Statement I and Statenient II are false

o 1 4 ILoF] 99 7

[Option ID = 3998]
3. Statement I is true but Statement IT is false

w9 1o 2, =194 %99 11 594 ¢

[Option ID = 3999]
4. Statement I is falze but Statement IT 1= tige

Fo 1 3759 &, =9 T4 L9 7

[Option ID = 4000]

Topic:- GP_22SEPT22_SH2_S1_PartC



1)

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economie growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. airports.
utilities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic nshitutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation,
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes nornial banking operations. allows
prices to spiral out of control. and fails to control diseases and soecial problems, it i1s hard to
1imagine how the economy can develop: Another critical function for government 1= to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owWners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not =afe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitrarily. A commitment to protect private property is not
necessarily something that henefits only the rich: in most poor societies, the principal
property owners are farmers,

T=ATeTge T T qiRv # UeH W 46-50 F I -

wFE, M | wada =+ fow v wedm gee it i = e 2, ﬁﬂﬁ—v{mé-—lﬁ%ﬂﬁia%r
TR S, S S Haig @R TgA 0 9rEE H0 2| TF UH A 95 SA1GE e =
e Ao, 7T, =4 32, AN SE, §E0E 3 S69E el w9 iieE e atgten 2, A
=E TH AEF-TEH W FEA 5 T A0 SEvaE 7 S G99 v Sis Tt 59 5 36 TR 6
e, |l A w MHWWWW aﬂrrﬁ??rﬁr TEAEE = TA e, WA, il
A T AmTEE SEETEAT 0 AFIGE TR GNYEEE R d EE A WO T R
Fa 1 AN T Hq_lﬁ ST = F TeEEd 5 dFAl 2

T 9, qin A0 HEF1 UH (=Eredl 1 HE G0 TEtEE A w1 2, JEE s Sl §os
St 2, FIEA W F = S@ 31 2. S0 St S  eens W A e 8 A e
% A I% A FAT WA ¢ OF AUAata B S 5 Wl 2| AT, SaE w9l § e |
T A -TTerR 7 TR i 39 39 T § Haw wH 8 A R wEveEE) 2 AR 9 9oy F
mww{mﬁﬂnmwm?wﬁmwwww*mmw'ma?ﬂ? o= e
=9 H | AH A A 8, T 7 wE 2 R U et s 7 ST £ 1 el HilaE e
THAE T T e A 0 w| G mme v F i a9 A= = 0 O UH A 965 e, A
Fae A H T TR 7, W% HAIHEEEl TS JEE § e e Tt e 7 2

The Government's policy for economic progress should include

o112 L o= = i e 3 1 o e 2 1 T i) e [ A

[Question ID = 1001][Question Description = 146_00_General_15_SEPT22_Q46]

1.

2.

Coercing people to pay taxes.

[Option ID = 4001]
Develoopraent of physical infrastructure.

[Option ID = 4002]



3.

4.

2)

Control of trade.

[Option ID = 4003]

Withdrawal firom Social Sector,

AEAF A9 H 5

[Option ID = 4004]

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 12 the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities, ports. and the like, which are neceszary to allow trade and exchangze: and such
economic institutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,

=TT T F T AR TR W 4650 F I S

i, fm § wada =+ fow v s weeay A w0 e = w2, e S gt e W
Wwwmmnﬁmﬂwnwmﬂlwmﬂﬁmﬂ?aﬂﬂmmﬂa
THam wos, TV, B WS, SHNEN SR, §T0TE 3 HAE S A9l Wi @ A 2, A
=F T AEF-TEA H FEA 51 T A0 SEeaE 7 ST G99 v Ois Tt S 5 36 TR 6
TEG, A SN H HEET @ WAE U e R aEi o0 2| g = v e, WA, wEd
AR T AR SEETEAT ) AFGE W TR NEEE W aF A W e R

=74 1 AN T Tl 1 =R F TieEied 7 gEal 2

=it 2, FIEA F A F A A I 2, S S v A S WO w6 1A 1w
7 T AR FEAA FAl WA £ SAUSAEET e 7 W | SR, SGE 5 B e |
S A=A o e 1 S I9IGT OEA § gaW S 8 FE9 F SEeasa) 2 | 9 5e &
I A AR A A 7, e 94w 2 o st HIJGM_’H*—EbﬂI;h-TJH.NQﬂHTqQﬂU
TR B H W FA1 1 A 1 SR w6 1A & Ui aaqEgnl SEEE 9§ e UH = 95 8, A
FEE 99 F AH TR 7, S HAHEEAT TE 2ETE § WO o 09 0o e A A

Investment in Soclal infrastructure will enable people to hecome

AN AF FTHEATH =91 AT 1 S °§ A S ¢



[Question ID = 1002][Question Description = 147_00_General_15_SEPT22_Q47]
1. Aetive investors

2.

3.

4.

3)

[Option ID = 4005]

Socially controlled

AETEF ®9 # A0S

[Option ID = 4006]

Economically productive

HMdF =0 H ST

[Option ID = 4007]

Conscious of Government Commitment.

[Option ID = 4008]

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 12 the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities. ports. and the like. which are necessary to allow trade and exchange: and such
economic institutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,



Tl T i gien, S A W 46-50 I A

win, fawm | wade F o0 0% wwe seegy g = A = 5w 7, e 59 Seaes e #
Wwwquﬁﬁﬂwqwmﬂwmmﬂ?aﬁmm
T w5, 9T, 24 32, SAMET ST, STUTE 30 SE g A Sies fee Attt 3, A
=E TH SEF-T5H # S0 51 F 0 aEeaE 2 E 99 vg OiF ymieEt 59 5 35 7R #5
T, A AR A A T = =i :FF:FH TH P gEARF = T =gl mAnL el
AR T amEieE SEETEa ) AFEE F TF ATHeEE 0 J G F e T E T Fied

A% faTie, 7% 90T O9F1 UH (R W AR a0 TeEE AR Tl 2, S ST TEeEl 8 o
Sl &, Al A % A A 2Al 2, d S A S WO e 4 e e
2 T TR T FA B £ A9 B S A W 2| SR, SgE Adg B e |
T =R o TR S SR 09 WP W HET SH A FE9 R SEEaT 7 S 4E a9 6
=31 § =0 9A #9998, e w9 9w 2 oF aoin - NrJdHﬂ&Ebdl'l{ﬁiaH#ﬂﬂhﬂTd!d“
TR B H W FA1 1 A 1 SR w14 T Ui aaqEgnl SEE® =9 H HiE UH e 96 e, o
FAe GG AT UEA &, FAF SOl T HATA § 99 o T A (e 7 A

To ensure economic development. the government should provide

[Question ID = 1003][Question Description = 148_00_General_15_SEPT22_Q48]

1.

2.

3.

4.

Security to property
Togte = g

[Option ID = 4009]
Opportunity to =ell property

[Option ID = 4010]
Help for factory owners to secure property.

[Option ID = 4011]
Scope to take the right to property for granted.

[Option ID = 4012]



4)

Read the passage and answer questions from cquestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economie growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. airports.
utilities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic nshitutions as financial and monetary svstems. which permit people to make
payments and investments easily. A social infrastrueture too public health and sanitation,
education. urban planning can encourage growth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes nornial banking operations. allows
prices to spiral out of control. and fails to control diseases and soecial problems, it i1s hard to
1imagine how the economy can develop: Another critical function for government 1= to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owWners to invest in iImproving their ability to produce. and such improvements are unlikely to
be made if property rights ave not =afe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitrarily. A commitment to protect private property is not
necessarily something that henefits only the rich: in most poor societies, the principal
property owners are farmers,
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Protection to private property will benefit
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[Question ID = 1004][Question Description = 149_00_General_15_SEPT22_Q49]

1.

2.

3.

The Government

[Option ID = 4013]
The factory ewners only

[Option ID = 4014]
The rich people only



AT G =

[Option ID = 4015]

4. The poor farmers also

5)
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[Option ID = 4016]

Read the passage and answer questions from cuestion.

A very important poliey that governments can undertake to boost developoment is to provide
public goods that contribute to economic growth and prosperity. One such public good 1= the
economic infrastructure. including a physical infrastructure of roads. railvoads. ailrports.
utihities, ports. and the like, which are neceszary to allow trade and exchange: and such
economic institutions as financial and monetary svstems. which permat people to make
payments and investments easily. A social infrastrueture too public health and sanitation.
education. urban planning can encourage srowth and development by allowing citizens to
focus their efforts on economic activity in a productive way. In contrast, if the Government
does not huild and maintain roads and schools. impedes normal banking operations. allows
prices to spiral out of control. and fails to control diseases and =ocial problems, it iz hard to
imagine how the economy can develop: Ancther critical function for government 1s to ensure
the security of property. After all. economic growth requires evervone, from farmers to factory
owners to Invest in improving their ability to produce. and such improvements are unhikely to
be made if property rights ave not safe. Secure property. rights — which people in developed
countries take for granted — mean that a property owner can be confident that his or her
material goods will not be seized arbitravily. A commitment to protect private propertv is not
necessarily something that benefits only the rich: in most poor societies, the principal
property owners are farmers,
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The paszage focuses on the need for

[Question ID = 1005][Question Description = 150_00_General_15_SEPT22_Q50]
1.

Support to the factory owners



[Option ID = 4017]
Securing property rights of farmers
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[Option ID = 4018]

Government investment in infrastructure development
ST F (FEE | aEE Ea

[Option ID = 4019]
Price control
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[Option ID = 4020]




